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HE#:n -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12
4Ry FE5 -3 2 -1 1 0 1 1 2 3 5 8 13 21 34 55 89 144
Fn -1-2=-3  1-(-1)=2  0-1=-1  1-0=1 0 1 0+1=1 1+1=2 1+2=3 2+3=5 3+5=8 ... (144/89)
Fn=F (n-2) +F(n-1) T, N0O=0, N1=1DiH& 1618
Fn={®"n—(-¢)"n}/¥5 (5—ST774: D =1618, RE—ILTF7A: $ =0.618)
Yah#EH3 1 -4 3 -1 2 1 3 4 7 11 18 29 47 76 123 199 322
Ln 3-(-4)=7  -1-3=-4 2-(-1)=3 1-2=-1 2 1 2+1=3  1+43=4 3+4=7 4+7=11 T+11=18 .. (322/199)
Ln=L(n-2) +L(n-1) T. NO=2, N1=1DiF& 1618
Ln=®"n+(-¢)"n (BEE#nDKREGLEICHYEHLEDERFESRLICIEDC)
SFa#5 12 =7 5 -2 3 1 4 5 9 14 23 37 60 97 157 254 411
Mn 5-(-7)=12 -2-5=-7 3-(-2)=5 1-3=-2 3 1 3+1=4 1+4=5 4+5=9 5+9=14  9+14=23 (411/254)
Mn=M(n-2) +M(n-1) T, NO=3, NI1=1DIHS 1618
Mn={® n+(-¢)nK@ +V 5)/4 5 1=FZL n>0
va’s L] -9 6 -3 3 0 3 3 6 9 15 24 39 63 102 165 267 432
Kn -3-6=—9 3-(-3)=6 0-3=—3  3-0=3 0 3 0+3=3  3+3=6  3+6=9  6+9=15 9+15=24 (432/267)
Kn=K(n-2) +K(n-1) T, NO=0, N1=3DIHF& (=3Fn ) 1618
Kn=3{® " n—(-¢)n}/¥ 5
Ik =5 4 -1 3 2 5 7 12 19 31 50 81 131 212 343 555 898 1453
FMn X y (1453/898)
FMn=FM(n-2) +FM(n—1) T, FMO=x, FM1=yDiFHE x&yEEEDH) OHTIEx=5,y=7, 1.618
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F%5%l:[0,1,1,2,3,58,4,3,7,1,80,88,76,4,156,28,1),01,1,2,,
L%%5:[(21,3,4,7,2,02246,1,7,8,65270,7,7538).2134,,
M%5%!:[3,1,45,0,5,5,1,6,7,4,2,6,854,04,483257)3145,,
K%%l:[0,3,3,6,0,6,6,3),0,3,3,6,,
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